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SK1. y²�p ≥ 1�§lp´�©�.

J«. ��¤k/Xxε = (γ1, γ2, · · · , γN , 0, 0, · · · ), γi ∈ Q, i =

1, · · · , N�¤�8Ü

SK2. �E´��D��5�m§{On}�ÙS���4~m¥§O1 ⊃
O2 ⊃ O3 ⊃ · · · ⊃ On ⊃ On+1 ⊃ · · · . @o§��¥On�“�»”d(On) =

supx,y∈On
‖x− y‖9 0(n→∞)§Kk∩nOn 6= ∅.

J« ·����3d¦�d(On) → d(��oº). �n0¦�¥On0
��

»d(On0
) < 5
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d. u´�n ≥ n0�§kO0 * On§l
�Ñ(Ø).

SK3. XJþK·��¦E´��Banach�m§On÷vþK�^��Ø�

¦´m¥(~Xk.4(à)8)§ù�(Ø´Ä�,¤áºe¤á§��Ñy

². eØ¤á§��Ñ���~.

J«. �C[0, 1]þ�¼ê�xnXeµ

xn =

{
1− nt, 0 ≤ t ≤ 1

n
,

0, 1
n
≤ t ≤ 1.

½ÂVn(t) = {x(t) ∈ C[0, 1]|0 ≤ x(t) ≤ xn(t), x(0) = 1}.

SK4. �{xn} ⊂ C[0, 1]��ÝëY�¼ê�. XJ�3p0 ≥ 1§¦��

3x0 ∈ C[0, 1]§÷v�n→∞�§k∫ 1

0

|xn(t)− x0(t)|p0dt→ 0.

@o3C[0, 1]�Ï~�êe§´Äkxn → x0º
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J«. Äk·�d
∫ 1

0
|xn(t)−x0(t)|p0dt→ 0�íÑ

∫ 1

0
|xn(t)−x0(t)|dt→

0(n → ∞). ,�5¿�{xn(t)− x0(t)}�´�ÝëY�§u´é?¿ε > 0§

�3δ > 0§¦���/k

|[xn(t′)− x0(t)]− [xn(t
′′)− x0(t′′)]| <

ε

2
,

|t′ − t′′| ≤ δ, ∀t′, t′′ ∈ [0, 1] (n = 1, 2, · · · ).

��§dn ≥ N§‖xn − x0‖L1 =
∫ 1

0
|xn(t)− x0(t)|dt ≤ ε · δ
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sup
t∈[0,1]

|xn(t)− x0(t)| ≤ ε.
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SK8 (N\K). �(X, d)�;Ýþ�m§f : X → X�÷�§�é?

¿x, y ∈ X§÷vd(f(x), f(y)) ≤ d(x, y). y²µé?¿�x, y ∈ X§þ

kd(f(x), f(y)) = d(x, y).


